

# VZOR

PF:

$$L^{-1} \left( \frac{1}{(p^2+1)^2} \right)$$

$$L((f * g)(t)) | (x) = F(x) G(x)$$

vice

$$L(\sin t) = \frac{1}{p^2+1} = F(k) = G(k)$$

pa2

$$\frac{1}{(p^2+1)^2} = F(x) G(x) = L(\sin t * \sin t)$$

$$\begin{aligned} & \downarrow \\ & \int_0^t \sin y \sin(t-y) dy \\ & = \frac{1}{2} \sin t - \frac{1}{2} \cos t \end{aligned}$$

## Obráz periodické funkce

$$\underline{Pr} \quad f(t) = \begin{cases} 1 & 0 \leq t \leq 1 \\ -1 & 1 \leq t < 2 \end{cases}$$

tedy  $f(t) = u_0 - 2u_1 + 1u_2 \quad t \geq 0$

perioda = 2

$$F = \frac{1}{s} (1 - 2e^{-s} + e^{-2s})$$

Vata o periode:

$$F(s) = \frac{1 - 2e^{-s} + e^{-2s}}{s(1 - e^{-2s})} = \frac{(1 - e^{-s})^2}{s(1 + e^{-s})(1 - e^{-s})} = \frac{1 - e^{-s}}{s(1 + e^{-s})}$$

$$\underline{Pr} \quad f(t) = \begin{cases} \sin t & 0 \leq t \leq \pi \\ 0 & \pi < t < 2\pi \end{cases}$$

$$f(t) = \sin t (u_0(t) - u_\pi(t)) = \sin t u_0(t) + \sin(t - \pi) u_\pi(t)$$

tedy  $F = \frac{1}{s^2 + 1} + \frac{1}{s^2 + 1} e^{-\pi s}$

periodičita:

$$F(s) = \frac{1 + e^{-\pi s}}{(s^2 + 1)(1 - e^{-2\pi s})} = \frac{1}{(s^2 + 1)(1 - e^{-2\pi s})}$$

3or impulsen

PF

$$F(s) = \frac{1}{s^2} e^{-2s} + \frac{1}{s} e^{-3s}$$

$$\begin{array}{cc} \downarrow & \downarrow \\ t & 1 \end{array}$$

$$\text{tedy } \mathcal{L}^{-1}(F)(t) = (t-2)u_2 + 1 \cdot u_3 \quad t \geq 0$$

$$f(t) = \begin{cases} 0 & 0 \leq t \leq 2 \\ t-2 & 2 < t \leq 3 \\ t-1 & t > 3 \end{cases}$$

PF

$$F(s) = \frac{2}{s(s-1)} e^{-s}$$

$$= \frac{-2}{s} + \frac{2}{s-1}$$

$$\text{tedy } f(t) = -2 \cdot u_1 + 2e^{t-1} u_1 \quad t \geq 0$$

PF

$$F(s) = \frac{1}{p+1} (e^{-p-1} - e^{-2p-2})$$

$$f(t) = e^{-1} e^{-(t-1)} u_1(t) - e^{-2} e^{-(t-2)} u_2(t) \quad t \geq 0$$

V202 Laplace

Pr  $f(x) = \frac{x+1}{x^2-x}$

---

→ 2 póly 0, 1

Res<sub>0</sub>  $F(x) e^{xt} = -1$

Res<sub>1</sub>  $F(x) e^{xt} = 2e^t$

par pro  $t > 0$  value

$$f = -1 + 2e^t$$

Pr  $F(x) = \frac{1}{(x+1)(x-1)(x^2+1)}$

póly  $\left. \begin{matrix} -1 \\ i \\ -i \end{matrix} \right\} 1. \text{st.}$

1 → 3. Add

Res<sub>-1</sub>  $F(x) e^{xt} = -\frac{1}{16} e^{-t}$

i  $= \frac{1}{8} e^{it}$

-i  $= -\frac{1}{8} e^{-it}$

1  $= \frac{2t^2 - 6t + 5}{2} e^t$

$$R(t) = -\frac{1}{16} e^{-t} + \frac{1}{8} e^{it} - \frac{1}{8} e^{-it} + \frac{1}{2} (2t^2 - 6t + 5) e^t$$

Pf

$$\sin(t) \times t = \int_0^t \sin(y)(t-y) dy =$$

$$= \int_0^t t \sin y - y \sin y dy = [(\cos y) t]_0^t$$

$$- \int_0^t y \sin y dy = -t \cos t + t - [-\cos y y]_0^t$$

$\begin{matrix} \swarrow & \searrow \\ u & v' \end{matrix}$

$$u' = 1 \quad v = -\cos y$$

$$+ \int_0^t -\cos y = -t \cos t + t + t \cos t - [\sin y]_0^t = \underline{\underline{t - \sin t}}$$